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. According to Abul Fazal how many sect. of Sufis

were there?

(1 10 2) 12

3) 14 @) 16

. In which year Jhansi was annexed in British
Empire?

(1) 1850 (2) 1853

(3) 1856 (4) 1860

. Mahavir Swami died at which place?

(2) Pava
(4) Kushinara

(1) Kundgram
(3) Lumbini

. When ‘Third Estate’ in France did proclaim itself

“National Assembly’?
(1) 17 June, 1789
(3) 4 August, 1789

(2) 14 July, 1789
(4) 14 July, 1790

. Buddha was related to which clan?

(1) Shakya
(3) Koliya

(2) Malla
(4) Kuru

. Dandi March was started on-

(1) 12 March, 1930 (2) 6 April, 1930
(3) 12 November, 1930 (4) 12 September, 1931

. In Mansabdari system rule of 1/3 and 1/4 was

started by-
(1) Akbar
(3) Shahjahan

(2) Jahangir
(4) Aurangzeb

. Teacher of Kabir was?

(2) Ramanand
(4) Narsi

(1) Ramanuj
(3) Tulsidas

. When was ‘Declaration of Independence’
adopted in America?

(1 1770 (2) 1772

(3) 1774 4) 1776

According to Gauri Shankar Ojha, Gupta rulers
were-

(1) Jat (2) Viashya

(3) Brahmin (4) Kshatriya

Who was the Czar in Russia during Bloody
Sunday?

(1) Alexander III
(3) Napoleon

(2) Nicholas Il
(4) Lenin
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The  head-quarter of  United Nations
Organisation is situated at?

(1) New York (2) Paris

(3) London (4) Hague

From where did we find the evidence of Stadium
in Indus Valley Civilisation?

(1) Lothal (2) Harappa
(3) Rakhigarhi (4) Dholavira

Greek name Amitrochates was synonym of
which Maurya ruler?

(1) Chandragupt
(3) Bindusar

(2) Ashoka
(4) Suseem

Ibadat Khana was established in which year?

(1) 1572 (2) 1575

3) 1579 (4) 1582

In which year Shivaji plundered Mughal city
Surat? '

(1) 1657

(3) 1664

Who discovered Lothal?
(1) D.R. Sahni

(3) S.R. Rao

2) 1660
@) 1675

(2) R.D. Banerji

(4) J.P. Joshi

Who said, “It (Cripps Mission) was a post dated
cheque on crashing bank™?

(1) Jawahar Lal Nehru

(2) Mohan Das Gandhi

(3) Pherozeshah Mehta

(4) Subhas Chandra Bose

Who was the first president of Congress?
(1) Womesh Chandra Bonnerjee

(2) Surendranath Banerjee

(3) Badruddin Tyabji

(4) Pherozeshah Mehta

According to census 2011, which district had the
highest percentage of population of Jain reli gion,
in its total population?
(1) Jalore

(3) Barmer

(2) Udaipur
(4) Ajmer
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According to the Theory of plate tectonics,
formation of the Island Arcs and Island festoons
are result of -

(1) Oceanic — Continental plates convergence

(2) Continental — Continental plates convergence
(3) Divergent plates Boundaries

(4) Oceanic — Oceanic plates convergence

The Antipodal Meridian of 75° East longitude of
Greenwich is —

(1) 105° East
(3) 75° West

(2) 105° West
(4) 155° West

The small and swift rivers, originating in the
Western Ghats and discharging their water into
the Arabian Sea, are an example of -

(1) Radial pattern Drainage
(2) Dendritic Drainage

(3) Parallel Drainage

(4) Antecedent Drainage

Variability of Rainfall in India is found lowest in

(1) The Western slopes of Western Ghats
(2) The Thar Desert of Rajasthan

(3) Central India

(4) The Eastern Coastal Plains

. Which surface has the highest Albedo?

(2) Dense clouds
(4) Soil (Dark
Coloured)

Match List - I with List - I and select the correct

answer by using the code given below the List —
List — 1 List —1I

Chief Producing

District/Districts

Pyrites (i)  Alwar

Bentonite (i)  Sikar

Lithium (i) Barmer, Bikaner

Slate stone  (iv) Ajmer

(1) Fresh fallen snow
(3) Old snow

Minerals

(A)

(B)

(©)

(D)
Code:
(1) (A)-(ii), (B)-(iii),

(O)-(iv), (D)-(1)

(3) (A)-(ii), (B)-(1),
(C)-(iii), (D)-(iv)

(2) (A)-Gii), (B)-(ib),
(O)-(iv), (D)-(1)

@) (A)-(ii), (B)-(iii),
(C)-(i), (D)-(iv)
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Which among the following is not correctly
matched?

(1) Van Allen Exosphere and
Radiation Belt-  Magnetosphere

(2) Appleton Layer - F layer

(Ionosphere)

(3) Kennelly D Layer
Heaviside Layer - (lonosphere)

(4) Roofof weather  Tropopause
Phenomenon -

Examine the following statements about interior

of the earth —

(A) Asthenosphere is partially molten.

(B) The thickness of the lithosphere is about 100
kilometres.

(C) The continental crust is made mainly of
Granite.

(D) The core of the earth is made mostly of
magnesium.

Choose the correct statements -

(1) (A),(B), (C)and (D) (2) (A).(C)and (D)

(3) (A), (B),and (C) (4) (B), (C)and (D)

As per soil classification of Department of

agriculture, Rajasthan, which pair of the

following is not correctly matched?

Types of soil - District/Districts

(1) Sierozems - Sri Ganganagar
(2) Reverina - Sri Ganganagar and
Hanumangarh
(3) Red-Loam - Dungarpur and
' Banswara
(4) Brown soils of Jalore, Pali and
recent origin - Nagaur

The main factors causing Ocean currents is/are —
(A) Planetary winds

(B) Variation in sea water temperature

(C) Variation in sea water salinity

(D) Revolution of the earth

Choose the correct factors -

(1) (A), (B), (C)and (D)  (2) (A), (B) and (C)
3) (A), (B) and (D) (4) Only (A) and (B)

At which phase / phases of moon the Neap tide
occurs?

(1) First and Third Quarter
(2) Crescent

(3) Gibbous

(4) New moon and Full moon
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. Examine

The leading producer of “Lac’ in India is -

(1) Chhattisgarh (2) West Bengal

(3) Maharashtra (4) Jharkhand

Which one of the following pairs is not correctly
matched?

Ship Building Industries - Location

(1) Hindustan Shipyard Ltd. - Visakhapatnam
(2) Garden Reach Workshop - Kolkata

(3) Mazagon Dock Ltd. - Marmagao

(4) Goa Shipyard Ltd. - Vasco da Gama

Which one of the following is not correct?

(1) Coriolis force is the result of earth’s rotation.

(2) Coriolis force is minimum at equator.

(3) According to Ferrel’s law, winds in Northern
Hemisphere deflect to the left of their path of
motion.

(4) Wind speed is measured through Beaufort
scale.

. The ‘Hot spot theory’ of Tuzo Wilson is

associated with the origin of -

(1) Volcanoes (Intra plate)

(2) New folded Mountains

(3) Tropical cyclones

(4) Oceanic currents

the following statements about

physical features in Rajasthan —

(A) The low depression in between sand dunes
in the Thar desert are called as “marho’.

(B) ‘Badland Topography® is found in Banas
Basin.

(C) Dora parvat in South Western part of
Rajasthan is a part of Aravalli Hills.

(D) The ‘Great Boundary fault” is situated along
Western part of Aravalli.

Choose the correct statements -

(1) (A), (B), (C)and (D)  (2) (A). (B)and (C)
(3) Only (A) and (C) @) (B). (C) and (D)

Which-one of the following pairs is not matched
correctly?

Tributary - Main River
(1) Bandi - Berach

(3) Sagi - Luni

(2) Mashi - Banas
(4) Kural - Chambal
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‘Pat’ Lands are situated at —

(1) Meghalaya plateau

(2) Bundelkhand plateau

(3) Karnataka plateau

(4) Chota nagpur plateau

To get a producer’s supply curve of a
commodity, which of the following factor should
not be held constant?

(1) Technology of production

(2) Wages ol the workers

(3) Price of' the commodi{y

(4) Price of related products

Which of the following is qualitative credit
control measure?
(1) Bank rate
(3) Minimum
lending rates

(2) Open market operations
(4) Reserve ratio

In India, data on unemployment is made
available by - '

(1) NSSO (2) CSO
(3) Planning (4) RBI
Commission

NNP at factor cost is -

(1) NNP at market price + indirect taxes —
subsidies

(2) NNP at market price — indirect taxes +
subsidies

(3) GNP - depreciation

(4) GNP + subsidies

From the following which is an indicator of

representing the economic welfare of people of a
country? :
(1) Real
income
(3) National income

per capita (2) Personal income
(4) Domestic income
Which of the following is not included in Net
National Product?
(1) Interest

(3) Profit

(2) Rent
(4) Depreciation

» People who are unwilling to work at the existing

wage rate are —

(1) Voluntary Unemployed
(2) Frictional Unemployed
(3) Casual Unemployed
(4) Seasonal Unemployed
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Main element of economic liberalization is —

(1) to adopt market-mechanism.

(2) remove unnecessary economic control
measures.

(3) globalization of economy.

(4) All the above

Economic reforms process in India started in the

ycar

(1) 1995

(3) 1982

(2) 1991
(4) 2001

Which of the following is not a characteristic of

indifference curve?

(1) They are convex to origin.

(2) Slope downward to the right.

(3) They are parallel to each other.

(4) Two indifference curves cannot cut each
other.

Which of the following has been used more
popularly for defining poverty in India?

(1) Agricultural productivity

(2) Unemployment

(3) Inequality of income

(4) Calorie intake

At the point of saturation, total utility of a
commodity 1s —

(1) Zero
(3) Maximum

(2) Minimum

(4) Negative

The time period of latest foreign trade policy of
India is —

(1) 2015 -2020
(3) 2012 -2017

2017 - 2022
2016 - 2021

(2)
4)
Downward movement along the same demand
curve shows —

(1) Expansion of demand

(2) Expansion of supply

(3) Increase in demand

(4) Decrease in demand

Who was the real architect of the ‘Second Five
Year Plan’ of India?

(1) P. C. Mahalanobis (2) Jawahar lal Nehru
(3) D. R. Gadgil (4) B. S. Minhas
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58.

60.
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(3) ASEAN

From the following which is not a function of
Central Bank?

(1) Providing Banking Facilities to government
(2) Providing Banking Facilities to Public

(3) Lending to government

(4) Lending to Commercial banks

Measurement of Value of all goods and services
refers to which of the following functions of
money?

(1) Medium of Exchange

(2) Unit of account

(3) Standard of Deferred Payment

(4) Store of Value

At the point of consumer equilibrium which of
the following condition is satisfied?

P =
{I) MRSXY i _Pi (2) MRSXY MRTSLK
b i

3) MRTS, = i (4) MRSyy = Py

Py
From the following which state has maximum
share in export of goods and services of India in
recent years?
(1) Maharashtra
(3) Karnataka

(2) Gujarat
(4) Tamil Nadu

The 10" edition of ‘Delhi Dialogue’ in New
Delhi in July, 2018, is related to India’s
engagement with -
(1) SAARC (2) SCO

(4) BRICS

- Through which Constitutional Amendment, the

term —*Union Cabinet’ — has been inserted in the
Constitution?

(1) 24" Amendment  (2) 42" Amendment
(3) 44™ Amendment  (4) 56" Amendment

Consider the following statements regarding
constitutional Amendment Procedure -
L. Such Amendment Bill can be introduced in
either House of Parliament.
II. In case of any disagreement between two
Houses, the President may summon the Joint
sitting of both Houses.

(1) Only L'is correct. ~ (2) Only Il is correct.

(3) Both I and II are (4) Neither I nor II is
correct. correct.
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Identify the incorrect statement regarding the

President of India -

(1) The tenure of the President’s office is 3
years.

(2) The President shall continue to hold office
until his successor enters upon his office.

(3) The President is eligible for re-election to
this office.

(4) The President addresses his resignation to
the Chief Justice of India.

Who among the following is an advocate of

Popular Sovereignty?

(1) Rousseau (2) Hobbes

(3) Bentham (4) Austin

The code name of the operation to eradicate

Naxal Violence in Chhattisgarh is -

(1) Operation Cobra  (2) Operation Mukti

(3) Operation Green  (4) Operation Vajra
Hunt

With which neighbouring country, India’s
relations are getting tense, due to the role of
China in Hambantota Port?

(1) Bangladesh (2) Pakistan
(3) Maldives (4) Sri Lanka

What among the following is not in conformity
with the Modern Perspective of Political
Theory?

(1) Power, as focus of study

(2) Value free Approach

(3) Development of Normative Political Theory
(4) Use of Empirical data

Instead of the conception of ‘Power as a means
of Domination’, who has described the
conception of power as ‘Power based on
consent’?

(1) Thomas Hobbes (2) Max Weber

(3) Hannah Arendt (4) Vilfredo Pareto
Which feature of the constitution of India is not
specifically mentioned in its Preamble?

(1) Socialist (2) Parliamentary

(3) Republic (4) Secular
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Among the following, identify the Parliamentary
Committee, which is not a Standing Committee?

(1) Business Advisory Committee
(2) Committee on Ethics
(3) Priviledge Committee

(4) Committee on Women Empowerment

In the verdict of which case, the Supreme Court
has laid down that the harmony between
Fundamental Rights and Directive Principles of
State Policy is an essential feature of the basic
structure of the constitution?

(1) Golak Nath Case, 1967

(2) Kesavananda Bharti Case, 1973

(3) Minerva Mills Case, 1980

(4) Maneka Gandhi Case, 1978

Which one of the following Directive Principles

of State Policy has not been inserted through 42"
Constitutional Amendment?

(1) The state shall, in particular, strive to
minimise the inequalities in income.

(2) Childhood and Youth are protected against
exploitation.

(3) Equal Justice and Free legal aid.

(4) Participation of workers in management of
Industries.

Politics of which State is polarised on Vokkaliga
and Lingayat Castes?

(1) Tamil Nadu
(3) Kerala

(2) Karnataka
(4) Telangana

Under the Sexual Harassment of Women at
Workplace Act, 2013 every employer has to
constitute a committee to be known as -

(1) Sexual Harassment Prevention Committee
(2) Gender Sensitization Committee
(3) Internal Complaints Committee

(4) Sexual Grievance Committee

68.
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Consider the following statements regarding
Judicial Review in India -

I. In the constitution of India, there is no mention
of the term — “Judicial Review’.

II. After the Maneka Gandhi Case, Court
scrutinises whether the *Due process of Law” has
been followed or not?
11I. Constitutional
reviewed by the Court.
IV. President’s Proclamation of Emergency
under article 356 of the Constitution also cannot
be reviewed by the Court.

Identify the correct statements, using the
codes given below -
(1) L Il and IV only

(3) I and 1V only

Amendments can’t  be

(2) 1 and I only
(4) Tand Il only

What among the following is not related to the
Traditional Perspective of Political Theory?
(1) Historicism (2) Positivism

(3) Institutionalism (4) Contextualism

‘Power + Legitimacy” is called -
(1) Authority
(3) Influence

(2) Persuation

(4) Manipulation

Identify the group of States, on which “The

Provisions of the Panchayats (Exiension to

Scheduled Areas) Act. 1996’ does not apply?

(1) Andhra Pradesh — Chhattisgarh — Gujarat

(2) Assam — Meghalaya — Tamil Nadu

(3) Jharkhand — Telangana — Rajasthan

(4) Maharashtra - Himachal Pradesh - Madhya
Pradesh

“Society is the union itself, the organisation, the

sum of formal relations in which associating

individuals are bound together™, defined by -

(1) F. H. Giddings (2) Alex Inkles

(3) Maciver and Page (4) Parsons

In which of the following concepts has M. N.
Srinivas explained caste mobility as a process of
social and cultural change?

(2) Sanskritization

(4) Modernization

(1) Secularization
(3) Westernization

73.
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AIDS (Acquired Immuno Déﬁcicncy Syndrome)
Day is celebrated on —
(1) May 1

(3) December 20

(2) December 1
(4) June 1

Which of the following sociologist has explained
six dimensions of communalism?

(1) S. C. Dube (2) M. N. Srinivas
(3) T. K. Oommen (4) R. K. Mukerjee

Who is the Author of the book “Principles of
Sociology”-

(1) Durkheim
(3) Merton

(2) Parsons
(4) Herbert Spencer

Which of the following is not a purushartha?

(1) Dharma (2) Sanskar

(3) Artha (4) Moksha

Which one of the following thinker is not related
with linear theory of social change?

(1) Comte (2) Pareto

(3) Spencer (4) Hobhouse

“Caste is a closed class”, quoted by whom -

(1) Cooley (2) N. K. Dutta

(3) Majumdar and (4) S. V. Ketkar
Madan

. Match the following correctly —

Author
(a) Irawati Karve

Name of Book
(i) Hindu Social

Organisation

(i) Marriage and family in (b) Westermarck
India

(iii) History of Human (c) K.M. Kapadia
Marriage

(iv) Kinship Organisation (d) P.H. Prabhu
in India

(1) ()-(d), (iD)-(c), (ii)-(b), (iv)-(a)

(2) ()-c), (ii)-(b), (iii)~(a), (iv)-(d)

(3) ()-(b), (i)-(d), (iii)-(c), (iv)-(a)

(4) (i)-(a), (ii)-(c), (iii)-(d), (iv)-(b)

Which of the following does not represent a
sociological perspective?
An attempt-

(1) To study social (2) To reform social

order order
(3) To study social (4) To study social
relations change

79

80

- TS (TeraS R SfhRrawr figr) feaw
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(11 48 (2) 1wy
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“Sociology is the study of human interactions
and interrelations, their conditions and
consequences”, definition given by -

(1) Max Weber (2) Morris Ginsberg
(3) Cuber (4) A. W. Green

When a person occupies two or more roles with
incompatible role obligations, it is known as —
(1) Role Distance (2) Role conflict

(3) Role set (4) Deviation

Who coined the concept of “Culture of Poverty™?
(1) Oscar Lewis (2) Gunnar Myrdal

(3) M. N. Srinivas (4) McKim Marriott
“Whenever, two or more individuals come
together and influence one another, they may be
said to constitute a social group”, definition
given by whom -
(1) T. B. Bottomore
(3) E. S. Bogardus

(2) Maciver and Page

(4) Ogburn and
Nimkoff

Which of the following is not a basis for

classification of family?

(1) Ancestry

(3) Religion

(2) Structure

(4) Residence

Who pioneered the idea of scientific study of
society?

(1) Plato

(3) Auguste Comte

(2) Adam Smith
(4) Herbert Spencer

Social relations in primary group refers to -
(1) Impersonal (2) Indirect relations

relations
(3) Contractual (4) Relationship is all
relations inclusive

Who defined that “Marriage is an institution for
admitting men and woman to family life”-

(1) Westermarck (2) K. M. Kapadia -
(3) P. H. Prabhu (4) Bogardus

Achieved status is determined by —
(1) Sex (2) Age
(3) Education (4) Caste
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(1) Formulation of Public Policies

(11) Implementation of Public Policies

(i11) Making continuity of administration

(1v) Making appointments to top posts

(v) Deciding large administrative questions
Select the correct answer by using the code given
below-

Codes:

(1) (i) and (iv) (2) (ii) and (iii)

@) (i), (iii)and (v) (@) (i), (iii) and (iv)

L.D. White subscribes to which view about
nature of Public Administration?

(1) Integral
(3) Narrow

(2) Managerial
(4) POSDCORB

Which one of these views is considered oldest?
(1) Public Administration as an activity

(2) Public Administration as a discipline

(3) Public Administration as a policy science

(4) Public Administration as an instrument of
government reforms

Match List —I with List — IT and select the correct
answer from the codes given below-
List-I (Thinker) List-1II (1deas)

(A) Gulick (i) POSDCORB

(B) Simon (ii)) Human Need
Hierarchy

(C) Taylor (i1i) Decision making

(D) Maslow (iv) Development of a
science of work

Codes:

(1) (A)-(i), (B)-(iii), (C)-(iv), (D)-(ii)
2) (A)-(iii), (B)-(i), (C)-(ii), (D)-(iv)
@) (A)-(ii), (B)- (i), (C)-(iii), (D)-(iv)
@) (A)-(iv), (B)-(ii), (C)-(1), (D)-(iii)
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@) @N-(iv), (@)-(i1), (F)-(1), ()-(iii)



100.

101.

102.

103.

104.

o

According to Lokpal and Lokayukta Bill 2011
the selection committee for appointment of
chairperson and members include-

(i) Prime Minister

(ii) Chairman of Rajya Sabha

(iii) Speaker of Lok Sabha

(iv) Leader of opposition in Lok Sabha

Select the correct answer by using the code given
below-

Code:

(1) (i) and (iii)

(3) (ii), (iii) and (iv)

(2) (i), (iii) and (iv)
(4) (1), (i1) and (iv)

An inner urge that moves a person to act is
called-

(1) Motivation
(3) Enthusiasm

(2) Morale
(4) Interest

Woodrow Wilson is known as the father of the
discipline of Public Administration, because-

(1) he wrote first text book in Public
Administration.
(2) he developed principles of Public

Administration.

(3) he considered Public Administration as an
important activity.

(4) he emphasized need for a separate study of
Public Administration.

Human Relation Theory lays emphasis on-

(i) People (ii) Structure

(iii) Principles of (iv) Informal groups
organization

Select the correct answer by using the code given
below-

Code:

(1) (ii) and (iii) (2) (i) and (iv)

(3) (iii) and (iv) (4) (i), (ii1) and (iv)
Which of the following recommended the
appointment of Lokpal and Lokayukta in India?
(1) First Administrative Reéforms Comimission

(2) Second Administrative Reforms Commission
(3) Santhanam Committee

(4) Sarkaria Commission

100.
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SAIFUTe Ud drbrga fAead 2011, & TR

arezer v wewdl B Frgfe &g @ A |

wieaferd &—

(i) TEITHEAT

(ii) TS 9T & FHTAT

(iii) SATHTHT 3feTel

(iv) SrepasT 7 fauer &1 =ar

4 fau 7Y g P STEN B Y FE I

BT TAT P

(1) (i) 3R (iii) @) (i), (iii) 3R (iv)

@) (i), (iii) 3R (iv) @) (D), (i) 3R (v)

T RS SATerdl Sl afdd @1 &1 @ oy

IRT HRE B, TH FEd o

(1) SrfaERoT (2) HHEA

(3) I™® 4) 3f

g e Bl wlid T v & WHd b

®Y ¥ ST ST ®, @ife—

(1) SE< A1F YIS & Ugell uigd Jid
ford |

) 9O a6 ueaE B gl o1 faerd
fopa |

() SEI AP TAA P TS Heedqul fohar
HIET |

@) G AP UINE B YUF AT B
TPl W SR 47|

AT gFawl g SR odr B—
() o W) (i) AT W
(i) Treq @ Rgrdl  (v) sEuEiReS

W Al W
4 Ry MU He § § G W BT AT B
FHe:
(1) (ii) 3R (iii)
3) (iii) 3R (iv)

) (i) 3R (iv)

@) (i), (iii) 3R (iv)
fopafaRea & 9 s wRa H dldurd U
drergad @ PRy @ RiwRer @1 &

(1) 9&H TImEAE GER AT

2) o wemafe ger AT

(3) T=I=H afafy

(4) TRBTRAT ATIAT



105.

106.

107.

108,

109.

01)-).

Besides Simon which thinker is knowt' for
giving a meaningful analysis of decision making

process?

(1) Fayol (2) Barnard

(3) Taylor (4) Follett

Public Administration was born primarily to-

(1) promote human welfare.
(2) regulate group action and behaviour.
(3) work for the development of society.

(4) bring socio-economic change in the society.

Right to Information Act was enacted by the
Indian Parliament in the year?

(1) 2003 (2) 2004

(3) 2005 (4) 2006

Which of the following are Motivators according
to Herzberg?

(i) Salary .

(11) Recognition

(111) Responsibility

(iv) Working condition
(v) Achievement

Select the correct answer by using the code

given below-
Codes:

) (i), (iii) and (iv)
(3) (1), (iv) and (v)

(2) (i), (iv) and (v)
(4) (ii), (iii) and (v)

Which letter in the acronym POSDCORB refers
to the word which means issuing orders and

instructions?
(1 Pp 2) O
3) D 4 B
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|gad & faRed b W faRe @1
frofa—fmior uftbar @& v arefyel fveivor &
forg ST Sirar 87

(1) BaTel WERIS

(3) TR (4) wiele

Sl URIRAA BT ST §TT AT, JRegcldi—

(1) 9Fd BT B I & |

(2) wHfed fhar vd @@aer & g9 &g

@) 99 & e & Hrf B

@) garet | amiie—-enfie uRada o
&g |

ARAT HHE gRT G- & OHR fH

fa ad # sffafaa fear Tar

(1) 2003 (2) 2004

(3) 2005 (4) 2006

o @ IUR fEifhd ¥ W BN 9

AfAIRF 87

(i) 9o

(ii) UM / A=t

(iil) STREIRE

(iv) & gemd

(v) SUafes

I Ry 10 He 9 Ferar ¥ 9 S B

WA -

T:l‘S:‘E’:

(M) (i), (iii) 3R (iv) @) (i), (iv) 3R (v)

@) (i), (iv) 3R (v) @) (i), (iii) 3R (v)

gRaeft ¥/ uRe®id (POSDCORB) # &IH

T ER I9 e B 3fa dwRar 8 R

31ef arreer ud e SR &RAr 27

(1) 9 (P) (2) 31 (0)

() (D) @) €1 (B)



110.

111.

112.

114,

115.
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Classical theory of organization is mainly
concerned with-

(1) formal organizational structure

(11) process of administration

(ii1) concept of economic man

(iv) principles of organization

(v) role of informal groups in an organization
Select the correct answer by using the code
given below-

Code:

(1) (1), () and (iv) (2) (ii1), (iv) and (v)
only only

(3) (i), (ii1) and (v) (4) (1), (i1), (iii) and (iv)
only only

Which of the following concepts are associated
with Taylor’s Scientific Management?

(1) Rule of Thumb and Mental Revolution

(2) Informal organisation and Unity of

Command

(3) Time and Motion Studies and Mental
Revolution

(4) Differential Wage System and Unity of
Command

Which of the following is not the characteristic
ofideal type Bureaucracy as propounded by Max
Weber?

(1) Career System (2) Service as a

contract
(3) Merit based entry  (4) Committed
to Services bureaucrats

. A District Collector is basically-

(1) A Generalist
Officer
(3) A Politician

(2) A Specialist
Officer
(4) A Journalist

Descartes holds that the two sources of obtaining
real knowledge are-

(1) Deduction and (2) Intuition and

Testimony Deduction
(3) Intuition and (4) Deduction and
Experience Experience

The Fourth Noble Truth in Buddhism states-
(1) The existence of suffering

(2) The cause of suffering

(3) The method of extinction of suffering
(4) The cessation of suffering
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AT & e g B g w0 9

qrg] B—

(i) eituenRes HISHIHS AT

(i) 99=IF a1 ufehan

(iii) anfefes w=a & e

(iv) Geq & Ragr

(v) e H SFIaiRe dal Bi i

A Ay 17 Fe A | |E SR BT I B

?@:

(1) daar (i), (ii) 2R 2) DI (iii), (iv) 3R
(iv) (v)

3) daa (ii), (iii) 3R @) daet (i), (ii). (iii)
(v) R (iv)

fferRad & ¥ SIF—0 JTROR TR $

s waver A grafrg &7

(1) 33 @1 fram iR Al wifsa

(2) JHITARS TS MR AR B Gehell

(3) \Ag ud WIfer srae iR AMRIE wifsa

(4) HEYUl &Y YOITEA] 3fR AT B ehar

ARy Ja) gIRT Ufquifed amesl Uy AT e
@ 79§ 9 B30 AR 981 87

(1) SRR AR (2) a1 3gEy &
3R U

(3) arger IeTRd (4) ufdag Alevens
Jar # g9

U fSTemeier Jeta: gdar a—

(1) Uk AmE=Is (2) v fa9rgs
feresTe R BEan

(3) Ud o (4) TH THBR

TpI & AT H gemel s @ uifta B g i

..

() fFH9 ud gree (2) HEGTSIE Ud
JHTOT IBREE

(3) AESIE Ud @) e ud srva
SCE]

dig 9a H Tqd IR W ad dRar 2 fb—

(1) 3@ 2|

(2) §@ P BRI 2 |
(3) g =M Anf |
4) g R 2 |



116.

7.

118.

119,

120.

121.

o1

Atman, in awakened
known as-

state in Upanishads is

(1) Vaishwanara (2) Tejas

(3) Prajna (4) Turiya

Select the correct pair-

(1) Bentham - only qualitative difference

among pleasures

(2) Mill - pleasures differ quantitatively and not
qualitatively

(3) Bentham— only quantitative
among pleasures

difference

(4) Mill — pleasures differ qualitatively and not
quantitatively

The *Panch-Mahaavrat” according to Jainism

are-

(1) Satya, Ahimsa, Jnan, Aparigraha,
Brahmacharya

(2) Dharma, Ahimsa, Asteya, Aparigraha,
Brahmacharya

(3) Satya, Viveka, Asteya, Aparigraha,
Brahmacharya

(4) Satya, Ahimsa, Asteya, Aparigraha,

Brahmacharya _
According to Gandhi which of the following is
not correct?

(1) Truth is perception of facts.

(2) Truth is identical to god.

(3) Non-violence is mere absence of violence.
(4) Non-violence includes love and truth.

The objective of Varnashram dharma is-

(1) to lead one towards moksha.

(2) holistic  development
individual.

of society and

(3) to maintain social divisions.

(4) to ensure material prosperity.

Origin of cosmos in Vedic Philosophy has been

discussed in-

(1) Nasdiya sukta

(3) Hiranyagarbha
sukta

(2) Purusha sukta
(4) All of the above

116.

117.

118.

119.

SUMYET ¥ SIRIT 3raReIT # ST BT PHET T

3

(1) d¥aR (2) o1

(3) wrsi ) g

HE g BT T BT

(1) dwerq — gt & ToncHs Ve §

(2) et — gl A " 1S 8, TS Y
T8l 2 |

() dem —gaEl § Bl qHHS G |

@) et — @l | oo 99 8, qEreHs e
BRI

O 9§ U HEhd g

(1) W, srfedn, 54, fre, gerad
(2) gH, AifEwn, ermy, Rz, gareri
Q) v, 49w, <, suRye, werad
4) g, fen, e, srufre, gerad

T & SR 17 % W Pl g T8 87
(1) | qeaf BT Ueel & |

(2) 9 ¥R ¥ If= 2

(3) arfer f&ar &1 g | @ |

() o W W e e e ¥

120.

121.
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quiispT end BT SRTY B

(1) Hi&T P AR I P |

(2) |HIST AT GfaT T FaTr e oA |
() ST favro™ 61 99 e |

(4) e Trorar g @ |

afes <[ W gie Sl amen frs 3 urph
STl 8-

(1) Ty e
(3) fevvgmi gaa

(2) 939 gaa
(4) SIS W 4



122. According to Socrates, knowledge is- 122. v d AR, -

(1) not a virtue

(2) not necessary for virtue

(3) sometimes necessary for virtue

(4) necessary and sufficient condition for virtue

123. For which of the following, moral agent is not ~ 123.

responsible-
(1) Voluntary actions (2) Involuntary actions
(3) Habitual actions (4) Self-willed actions

124. Which theory of punishment considers crime as 124.

a social and psychological Problem?

(1) Deterrent (2) Retributive
(3) Dharma Shastra (4) Reformative
125. Param Purshartha is- 125.
(1) Dharma (2) Artha
(3) Kama (4) Moksha

126. The “Sthita prajna’ according to Gita is one who?  126.

(1) has renounced the world

(2) performs rituals

(3) is steadfast in success and failure
(4) desires enjoyment and power

127. Which of the following deities is said to be the 127.

protector of ‘Rta’?
(1) Indra (2) Agni
(3) Varun (4) Vishwakarma

128. Match List-I with List-II and select the correct 128.

answer by using the code given below the lists-

(A) Gross (i) Mill
Utilitarianism
(B) Refined (i) Kant

- Utilitarianism
(C) Cardinal virtues (iii) Bentham

(D) Categorical (iv) Plato
imperative
Codes:-
(1) (A)-(i), (B)-(iii), (2) (A)-(iii), (B)-(1),
(O)-(i1), (D)-(1v) (C)-(iv), (D)-(i1)
(3) (A)-(ii), (B)-(iv), @) (A)-(iv), (B)-(ii),
(C)-(1), (D)-(ii1) (C)-(iii), (D)-(1)
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(1) o1 el B

(2) TEOT ¥ AAAF TE € |

(3) FT ¥ AGT-FaT AP BNl 2 |
(4) T[T B gL AR g Wwd 2 |
e wat = & g SoRarl 7@l 8-

(1) Wfod &4
(3) ared o= HH

(2) FRe® HH
(4) W—ddfeud HH

U BT BT RIS U B AHAITD Td
TSRS T & WU H WER AT 87

(1) fyad=ard
(3) e
X gouTef B
(1) =

(3) &

(2) ufdmrard!
(4) guRa

(2) 37
(4) At

frer @ IR ‘Reraus’ 98 & Si-

(1) ST ¥ G of ofdl & |
() enfifes deai &1 e Bl € |
(3) STl MR el W G Il ¢ |

© () W afiR wf @Y 3BT aRaT B |

Fr=ferfRaa § & 9 Sgar &1 ka1 ARED

el AT 87
1) =
(3) 99T

(2) 1+
(4) fagamnt

A [T g 11 e S ek ia e
TT P P YA BB TE IR G-

(B) gawgpd
IS

(C) 7= |

(D) fA=uUer 3mawr

'@.—

(1) (A)-(i), (B)-(ii1),
(C)-(ii), (D)-(1v)

(3) (A)-(ii), (B)-(iv),

(C)-(i), (D)-(iii)

el
()

(if) Hr<

(it) a2
(iv) wrer

(2) (A)-(iii), (B)-(i),
(C)-(iv), (D)-(ii)

(@) (A)-(iv), (B)-(ii),
(C)-(iii), (D)-(1)



129.

130.

131.

132.

133.

134.

135.
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According to Kant, only that action is duty,
which is based on the principle of-

(1) Sympathy (2) Duty for duty’s
sake

(3) Common good (4) Consideration  of
consequences

Plato accepts-

(1) Knowledge is
virtue

(3) Cardinal virtues

Teaching Aid should be used in class -

(1) Asan aid

(3) For entertainment

(2) Hedonism

(4) Golden means

(2) As an objective
(4) For deviating
attention

Project Method is important in teaching, because

it is-

(1) Pleasurable for students

(2) Students have to work

(3) Teacher is free

(4) Learning by doing is long lasting

Excursion in Social Studies teaching is most

important for -

(1) Entertainment

(3) Away from
classroom

(2) Direct learning
(4) Group adjustment

To provide an overview of a large unit or large
topic of Social Studies, which of the following
method will be most appropriate?

(1) Project Method (2) Problem Solving
(3) Peer Tutoring (4) Lecture Method

According to NCF-2005, such knowledge should
be given to students through Social Studies
teaching, by which —

(1) foundation for social peace can be build.

(2) be interested in traditional vocations.

(3) new generation should follow present
leadership.

(4) social problems can be solved.
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I B IR DI I8 BH B 2, e
MR RAgT— |

(1) SETHfe & (2) FaaaFHdA P iy
@) v fRa & (@) aRoml @ fae
D) FEFA AT S (2) gEa

(3) g1 e (4) W@ weq ARt
FeT A HERE Al BT AT fRar

=ifey —
(1) 9r*F & w9 |
) 7RG & fRiw

() 9T & wY F

4) G Yedr b
ferg

fRreror # grarsrr Oy Aewgt 8, @iy —

(1) I8 faeniiai & forv sreees 2

(2) faemeff @) #rf &= g 2

(3) Rere wdw gar &1

(4) TXD ArE=T R Bt 2

IS SeaEE vy ¥ udes e gfe 9
Haifre FEgel § —
(1) 7RG

(3) PeT—PHE F A

(2) yeuet SIS
(4) aMfe® FEmEeH

gEifoe sruad @ fedl ae cifte @

Rigraciias &g M=ifea § O @19 & Ry

fafer waffre Soge 2rfi?

(M) uRare Ay (2) W gaEE

(3) wEurdl feroy (4) @ fafey

TAMI.UH—2005 & OIAN QMG a5

fovg & grr fenfiai & v s R A

aifey, R —

(1) |91 § Snfeq &7 R a9 |

(2) ARG Iqar # Bfy g+ <2 |

() TN G SuRera g B AR @R
D |

(4) RIS TR BT THET B TP |
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142.

143.
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Which of the following is not a phase of

Reflective Thinking, as suggested by John

Dewey?

(1) Hypothesis (2) Testing of
Hypothesis

(4) Initiation

Which of the following step is common in

Herbertian Approach and Morrison’s Approach?

(1) Preparation (2) Exploration

(3) Presentation (4) Generalization

(3) Intellectualization

[t is most important for the teacher of Social
Studies to have -

(1) Pleasant Personality

(2) Love for excursion

(3) Knowledge of current events
(4) Love towards aesthetics

Following activities may be included in
constructivist approach of teaching -

(1) Drama (2) Individual
assignments

(3) Group work (4) All  options are
correct

Social Studies teacher can use computer for -
(1) Teaching

(2) Educational Guidance and Counselling

(3) Examination
(4) Above all

Social Studies subject is related to -

(1) Individual (2) Society

(3) Administration (4) Philosophies
The method to teach Social Studies should be -

(1) Subject centered  (2) Teacher centered

(3) Student centered  (4) Teaching - aid
centered

Which of the following is not true about teaching

aids?

(1) Poster is an example of projected aids.

(2) Motion picture is an example of visual aids.

(3) Graph and Charts are examples of visual
aids.

(4) Printed maps are examples of Non-projected
aids.
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S O & g R W wade i @
araeenatt F Freifed § A BF gEIfRd el
27

(1) gR&EET (2) IREGTAT TRIETT
(3) difegexor (4) 3RH

Arifed § ¥ BIF G TR0 gXde SN Ud
AT SUNTH # A 2?

1) dImY (2) g0

(3) TRKIfCIepROT (4) FTHTATHIOT
A e & e @ forg srafid
Heaayul ® f& a8 —

(1) IE~ egfeaea &1 8l

(2) 23meA | UH W

(3) TemTeiE TRl B I

(4) =g W

AR (Constructivist) T s 4
e TR afafera & @&l 8 -

(1) 3if¥a ) FafFs s
) wryfe® @il @) ol oo wd €
ARG ST BT RIEd HRGER Bl AT
PR TPl & —

(1) f3reror #

() v Frdee vd e A

(3) e s H

(4) SRIGT | A

AT e fava |t g —

(1) afaa | (2) AT A

3) v | @) <3+ ¥

A arcrae @ Reror fafr g anf?y —

(1) fawg sfa (2) frerd uu=

(3) faemef gum= (4) AEIG—aTTd!
PEIET

fr=ifhg § & BA—a1 ®Ud R 9EEd

ARl @ el § |d T8l 87

(1) U, werd ARl 2 |

(2) Tz, g3g arll 2|

(3) U d 91, ge Qi g

@) fies Al swerd) Al & SETER € |



144.

The Prime objective of the Social Studies
teaching should be -

(1) To give the knowledge of Geography.
(2) To recall the History.

(3) To give the knowledge
conditions.

(4) To develop social virtues.

of political

144.

I JeaEE Rieror &1 W Sew B
afey —

(1) A BT AHBRT 27 |

(2) B ERY HRaH |

() wreife Refeaal &1 s e |

(4) HHISTS T[0T BT faBT T |

145. Teaching of any subject needs to correlate with 145, ffy 1 Rvy @7 a7 RAval ¥ we_ddi
other subjects, because - B UG IAIF &, Fifs —
(1) Knowledge is whole. (1) S9 3GUE B |
(2) Mind is indivisible. (2) 5Raws aifrse 2
(3) Learning becomes long lasting. (3) ST ¥ venfieg amar 2
(4) All options are correct. @) ) Ry 98 §)
146. Which of the following should be used to 146. IR ereRr & RAerg & forg fov1 o | @
increase appropriate behaviour? QAT foar s anfRe?
(1) Ignorance (2) Strictness (1) e (2) Ty
(3) Punishment (4) Praise (3) T (4) 93T
147. Which of the following statement is most 147. aHifsTaRa sfiafed fafy (Social Recitation
appropriate about Social Recitation Method? Method) d qau § f=ifed ¥ 9 B9 o
(1) Saves time. BT qAIfF IuYa &7
(2) Complete course can be taught. (1) 999 q9ar & |
(3) Students get a definite direction. (2) 1 YTSTUHH YGRIT ST Hehdl %I_
(4) Develops socially useful characteristics. (3) faeneff &1 Ff¥=a ey e 2 _
(4) TSI faRarel @1 faer g §
148. Which of the following is not true about Social  148. TS 3ara (Social Recitation) fafer &
Recitation method? Hed # frifd & W B9 91 HUF 98 T8
(1) It teaches pupil to think clearly. 87
(2) It provides pupil, opportunity to Self — (1) ¥s el & we fRiaa ¥ gered 2
Expression. (2) ¥ faenfefal &1 nenfiafad o1 @R
(3) It provides training in leadership. ST HYar & |
(4) There is no risk of futile discussion. (3) F' g ufdEor yer HRar 2
(4) s9 @} Tt BT B wewT & |
149. The aim of Social Studies curriculum is - 149. WTRHTH HEIAT UIGAHH BT UHE Ieeg &
(1) Maximum facts may be given to students
(2) Develop imagination of students (I) ﬁf’ﬂﬁﬁ?ﬁ B AfHaH T e o
(3) Develop critical understanding of students (2) et & deumr wfda el @ sy
(4) Attach them with their, religion and caste (3) faenfefat & sreiraarers e fAsiig &)
(@) faemefi s et aiv onfey & oS
I50. Which of the following is not a step of 150. fy=ifhd ¥ ¥ PF—aT BRGS SUTH B U

‘Herbertian Approach’? TROT & B?
(1) Preparation (2) Presentation (1) I ) m?‘-l‘cﬁmq
(3) Generalization (4) No option is correct 3) IFERT (4) P faweg B
BEIR
------------------ ,9,0.0.6. EL D 0.0,0. 6, CRNNNNS, ') ¢ ¢ G
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